06/2018

PADOTUSVENTTIILIN DN 70 OSALUETTELO
00

Osa | Nimitys

1 Runko

2 Tasotiiviste

3 Kansi

4 Kara

5 Karan kansi

6 Ms-mutteri

7 Painin

8 Vipu

9 Lappa

10 Lapan tiiviste

1 O-rengas

12 Saksisokka

13 Akseli

14 Laakeriholkki (2 kpl)

15 Kasipyora

16 Kuusioruuvi M6x16

17 Aluslevy A6

18 Kuusioruuvi M8x20 (2
kpl)

19 Aluslevy A8 (2 kpl)

20 Kuusioruuvi M10 x 35 (4
kpl)

1 Kuusiomutteri M10 (4
kpl)

22 Aluslevy A10 (4 kpl)

23 Varmistuslevy

24 Arvokilpi

SAINT-GOBAIN




